
3.5 Average Rate of Change Notes 

 

In other words, the average rate of change is the slope of the secant line. 

 

 

Step 1: Evaluate the function for f(-3) and f(5). 

 

 

Step 2: Calculate slope between the two points from step 1 to find average rate of change. 

 

 

 

 



 

 

 

 

 

 

 

3.6 Average Rate of Change Assignment 

1. Find the average rate of change for 𝑓(𝑥) = −3𝑥2 + 10𝑥 − 5 𝑜𝑛 [−10, 8]. 

 

 

 

 

 

2. Find the average rate of change for 𝑓(𝑥) = √𝑥 + 15 + 17  𝑜𝑛 [34, 241]. 

 

 

 

 

3. The average price of a movie ticket in North America is given in the table.  Find the average rate of change from 1991 

to 2003.  Be sure to interpret the meaning of the average rate of change for full credit.  

Year 1987 1991 1998 1999 2003 2007 

Price ($) 3.91 4.21 4.35 5.06 6.03 6.88 

 



Find the average rate of change for each function on the specified interval. 

4. 𝑓(𝑥) = 3𝑥2 − 𝑥 + 5 𝑜𝑛 [1, 3] 

 

5. 𝑓(𝑥) = −𝑥2 + 4 𝑜𝑛 [3, 𝑎] 

 

 

6. 𝑓(𝑥) =
𝑥2+11𝑥+30

𝑥+6
 𝑜𝑛 [−4, 0] 

 

 

7. 𝑓(𝑥) = √𝑥 + 8 − 6 𝑜𝑛 [−4, 0] 

 

 

8. 𝑓(𝑥) = √𝑥 + 2
3

+ 1 𝑜𝑛 [−3, 6] 

 

 

 

 


